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1. Oor = koyH =44.55KPa K| =500EH =100.24KN / m

2. f&:

z=0m o,=154 z=5m o,=392
z,=14m E ,=7056KN/m {EH :1.2m

3. fi#:
z=0 0,=572 z=5m o, =183.6+572=24038
E, =286 E,=459 E =745 =z =199m
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4\ %:
z = o, =6.14 z=35m c,,=33.717
E, =307 E_,=609.1 E, =998
z,=1.92m
5\ %:
0
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= ¥, =18KN / m®
(ai §01=320
= ¢ =0 11.2 kPa
= . — 1 -
7o) 2.5kPa
& g v, =19.2KN / m*
L 0
I, @ =16
s ¢, =12KPa Y
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354 kPa



6\ %:
y=19.6 E,=1348  z=1.667m

7. fi, a'=90"-75"=25"

cos’ (p—a')
2
cos’a’-cos(5+a')|1+ sin(+¢)-sin (¢~ )
cos(5+a')-cos(a'—f)
cosZ(30°——25°)
- = 0.037

cos?25%cos25° |1+ \/Sln?)OOSIH?)OO
cos25° cos 25°

a

E, =%7H2Ka =12kN /'m

8. f#: (1 Kk ME,

k. =tan’ (450 —gj =0333 E, :% yHK, = 49.28kN /m

(2) SR G Mk« kS HRase b

G, =%x(3—0.6)x 4x22+0.6x4x22=105.6+52.8=158.4kPa
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